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The graph intersects the x-axis at (3, 0) and

(-3,0).

8. 5=
20
=4

x=+V&

x==%2

The graph intersects the x-axis at (2, 0) and

(-2,0).

=78
x=%78

x~+8.83

The graph intersects the x-axis at
approximately (8.83, 0) and (—8.83,0).
7+ 10=18

=8

X~ +1.07

The graph intersects the x-axis at
approximately (1.07, 0) and (~1.07,0).

Solve each equation. Give the answer in radical form, and then use a calculator to approximate the

solution to two decimal places, if necessary.
10, 5(x—9)' =15
(x—9)*=3
x—9=%v3
x=%v3+9

V3+9 or x=+v3+9
x=~7.27 x=~10.73

x=

L (x+15) =81

X+15=+E1
x+15=9
x=49-15

X=-9-15 or x=9-15
=-24 x=-6




